

Ignore all packed by"
in descriptions

Quote

04/25/2019

ECONOMY RESTAURANT FIXTURES

To:

Mt. Diablo Unified School District Dominic Machi 1936 Carlotta Drive Concord, CA 94519-(925)682-8000 Project:

Mt. Diablo Serendipity Smallwares

From:

TriMark Economy Restaurant

Fixtures

Allison Pannabecker 415 Richards Blvd Sacramento, CA 95811

415-626-5611

R 113101

(916)558-3032 (Contact)

Pricing based on the Sourcewell Contract Number 091918-TMK. Contract began on July 1, 2018 and Expires on December 31, 2021

Item	Qty	Description	Sell	Sell Total
1	6 ea	PLASTIC PLATTER Carlisle Model No. 4441602 Packed 4 ea Palette Designer Displayware™ Platter, 17" x 13", rectangular, wide rim, break-resistant, dishwasher safe, melamine, white, NSF	\$26.76	\$160.56
2	6 ea	PLASTIC PLATTER Carlisle Model No. 4441002 Packed 4 ea Palette Designer Displayware™ Platter, 17" x 13", oval, wide rim, break-resistant, dishwasher safe, melamine, white, NSF	\$27.00	\$162.00
3	8 ea	SERVING TONGS Carlisle Model No. 607682 Packed 12 ea Serving Tongs, 8-1/4"L, one-piece, dishwasher safe, 18/8 stainless steel, mirror-polish finish	\$9.00	\$72.00
4	4 ea	SERVING TONGS Carlisle Model No. 607680 Packed 12 ea Pastry Tongs, 8"L, one-piece, dishwasher safe, 18/8 stainless steel, mirror-polish finish	\$7.47	\$29.88
5	3 ea	TRANSPORT UTILITY CART Vollrath Model No. 97126 Utility Cart, 400 lb, cap., Stainless, 3-Shelf Truck, shelves measure 17 3/4" x 27", Unit measures 30 7/8"L x 17 3/4"W x 33 3/4"H, 13 13/16" between shelves, 4" swivel casters, 22 gauge bottom & middle shelves, 20 gauge top shelf, 16 gauge uprights, Made in USA	\$295.00	\$885.00
6	3 ea	FOOD PAN WARMER/COOKER, COUNTERTOP	\$122.00	\$366.00

Item Q	ty	Description	Sell	Sell Total
		Nemco Food Equipment Model No. 6102A Countertop Round Cooker/Warmer, 7 quart, stainless steel construction, adjustable thermostat, 120v/60/1ph, 1050 watts, 8.8 amps, 6 ft. cord, NEMA 5-15P, cETLus, NSF		
		1 year parts & labor warranty, standard Crown Brands IS-70 Update International™ - Inset For Steam Table, 7 quart, 9-5/16" dia. (8-5/16" inner dia.) x 8-1/4"H, 0.8 mm thick stainless steel	\$10.00	\$60.00
#936	6 ea	Crown Brands ISHC-70 Update International™ - Inset Cover, hinged, fits 7 quart insert, notched with handle, 0.8 mm thick stainless steel	\$6.00	\$36.00
7 12	2 ea	NON-SKID SERVING TRAY Carlisle Model No. 1600GR2004 Packed 12 EA Griptite™ 2 Serving Tray, 16" dia., round, stain and odor resistant, non-skid surface, coated edged, dishwasher safe, fiberglass, black, NSF	\$12.85	\$154.20
12	2 ea	5 year warranty, std. (no charge)		
8 6	ea	BUS BOX / TUB Vollrath Model No. 1527B-06 Packed 150 ea Traex® Standard Bus Box, 1-compartment, 21-3/4"W x 15-1/2"D x 7"deep, temperature range: -30° to 183°F, high-density polyethylene, black, NSF, Made in USA (must order in bulk quantity of 150)	\$4.45	\$26.70
9 4	l ea	GLASS DISHWASHER RACK Cambro Model No. 25S638110 Packed 3 ea Camrack® Glass Rack, with (3) soft gray extenders, full size, 19-3/4" x 19-3/4" x 8-7/8", (25) compartments, 3-7/16" max. dia., 6-7/8" max. height, black, HACCP compliant, NSF	\$40.90	\$163.60
10 2	ea	FLATWARE DISHWASHER RACK Cambro Model No. FR258151 Packed 6 ea Camrack® Flatware Rack, full size, 19-3/4" x 19-3/4" x 4", 2-5/8" max. height, soft gray, NSF	\$18.15	\$36.30
11 4	ea	DISHWASHER RACK, PEG / COMBINATION Cambro Model No. PR314151 Packed 6 ea Camrack® 9 x 9 Peg Rack, full size, 19-3/4" x 19-3/4" x 4", compartment inches 18" x 18", 3-1/4" max. height, soft gray, NSF	\$18.15	\$72.60
12 2	ea	PAN DISHWASHER RACK Cambro Model No. OETR314151 Packed 6 ea Camrack® Open End Tray Rack, 19-3/4" x 19-3/4" x 4", used for trays 15" x 20" or larger, 3-1/4" max. height, soft gray, NSF	\$17.75	\$35.50
13 2	ea	FLATWARE DISHWASHER RACK	\$23.90	\$47.80

				-,,
Item	Qty	Description	Sell	Sell Total
		Vollrath Model No. 52641 Packed 4 ea Flatware Basket, (8) compartment, with handles, 18-19/32"W x 7-19/32"D x 7-9/32"H (compartment size 3-9/16"W x 3-9/16"D x 4-1/4"H), polypropylene, green, NSF, Made in USA		
14	2 ea	RACK DOLLY	\$101.95	\$203.90
C u	5 8	Vollrath Model No. 1697 Rack Dolly, beige, without handle		
15	6 ea	BUCKET	\$4.25	\$25.50
	Tenner III	San Jamar Model No. KP196RD Packed 12 ea Kleen-Pail®, 6 qt., "sanitizing solution" printing, plastic, meets HACCP guidelines, red		
16	6 ea	BUCKET	\$4.25	\$25.50
	Dates gent Bernard British	San Jamar Model No. KP196GN Packed 12 ea Kleen-Pail®, 6 qt., "detergent" printing, plastic, meets HACCP guidelines, green	Ų 11 <u>2</u> 3	Ç 25150
17	/ 4 ea	DRAIN, SINK BASKET / STRAINER	\$1.85	\$7.40
		GSW USA Model No. AA-142 Packed 50 ea Replacement Basket, 3-1/2", stainless steel		
18	1 ea	POP-UP TOASTER	\$160.45	\$160.45
	Vocati	Waring Model No. WCT708 Commercial Toaster, medium-duty, (4) extra wide 1-3/8" slots, (4) slice capacity (up to 225 slices/hr), (2) rotary dial to adjust browning controls, removable crumb tray, brushed chrome finish, 3-prong plug, 120v/60/1-ph, 15 amps, 1800 watts, cETLus, NSF		
	1 ea	1 year limited warranty, standard		
19	6 ea	GARBAGE CAN Carlisle Model No. 34202303 Packed 4 ea Trimline™ Waste Container, 23 gallon, rectangular, integrated corner tabs, bottom helper handles, heavy-duty, polyethylene, black	\$21.85	\$131.10
*	14 6 ea	34202403 Trimline™ Swing Top Lid, rectangular, fits 15/23 gallon Trimline™ waste containers, ABS plastic, black	\$27.10	\$162.60
20	3 ea	SAUCE PAN	\$35.00	\$105.00

Item	Qty	Description	Sell	Sell Total
a,		Vollrath Model No. 68307 Packed 6 ea Wear-Ever® Tapered Sauce Pan, 7 quart, 5-5/8" deep, 10-5/8" top dia., 8-5/8" bottom dia., 11 gauge aluminum alloy, natural finish, TriVent® silicone handle with EverTite® riveting, helper handle, NSF, Made in USA		
共	3 ea 75	67317 Wear-Ever® Flat Cover, 10-11/16" inside dia., 14 gauge aluminum with Torogard™ dipped handle (handle is heat resistant to 180°F/82°C & are NOT oven proof), NSF, Made in USA	\$11.65	\$34.95
21	3 ea	Vollrath Model No. 67310 Packed 3 ea Wear-Ever® Tapered Sauce Pan, 10 quart, 6-1/4" deep, 12-1/16" top dia., 10-1/2" bottom dia., 11 gauge aluminum alloy, natural finish, plated TriVent® handle with EverTite® riveting, helper handle, NSF, Made in USA	\$36.00	\$108.00
世	3 ea	67320 Wear-Ever® Flat Cover, 11-13/16" inside dia., 14 gauge aluminum with Torogard™ dipped handle (handle is heat resistant to 180°F/82°C & are NOT oven proof), NSF, Made in USA	\$17.00	\$51.00
22	2 ea	BRAZIER PAN Vollrath Model No. 68218 Classic Select™ Brazier, 18 quart, 3004 Heavy Duty Aluminum, 2 ga., natural finish, welded aluminum handles, double-thick top & bottom, 16" inside dia., 5-3/8" inside depth, NSF, Made in USA, Jacob's Pride® Collection, Limited Lifetime Warranty	\$148.00	\$296.00
23	2 ea	Vollrath Model No. 67520 Classic Stock Pot, 20 quart, without cover, Standard Aluminum, Natural Finish, plated welded handles, 12" inside dia., 10-1/2" inside depth, 8 ga., NSF, Made in USA	\$47.45	\$94.90
24	2 ea	COLANDER Crown Brands, LLC Model No. ACO-11 Packed 4 ea Update International™ - Colander, 11 quart, 15-1/8" dia., 7-3/4"H, round, with handles and base, 1 mm thick aluminum	\$16.65	\$33.30
25	1 ea	SALAD / VEGETABLE DRYER, MANUAL Dynamic USA Model No. E002 Salad Spinner, manual, 5 gallon capacity, 21"H x 17" dia., dries up to 6-8 heads of lettuce, (cover unassembled)	\$105.00	\$105.00
26	3 ea	FRY PAN Vollrath Model No. EZ4008 Packed 6 ea Wear-Ever® Aluminum Fry Pan, 8" (20 cm), with Ever-Smooth™ CeramiGuard® II non-stick coating, featuring removable Cool Handle® silicone insulated handle, rivetless, handle rated at 450° for stovetop or oven use, 5-3/4" (14 cm) bottom diameter, 1-7/8" (4.8 cm) inside height, 10 ga. NSF, Made in USA	\$30.00	\$90.00

Item	Qty	Description	Sell	Sell Total
27	3 ea	FRY PAN Vollrath Model No. EZ4010 Packed 6 ea Wear-Ever® Aluminum Fry Pan, 10" (25 cm), with Ever-Smooth™ CeramiGuard® II non-stick coating, featuring removable Cool Handle® silicone insulated handle, rivetless, handle rated at 450° for stovetop or oven use, 7-5/8" (20 cm) bottom diameter, 2" (5.1 cm) inside height, 8 ga. NSF, Made in USA	\$42.00	\$126.00
28 W 14	6 ea	SOLID SERVING SPOON Winco Model No. BSOT-13 Packed 144 ea Basting Spoon, 13", solid, 1.2 mm, stainless steel (Qty Break = 12 each)	\$1.00	\$6.00
29 PX VA	6 ea	SLOTTED SERVING SPOON Winco Model No. BSST-13 Packed 144 ea Basting Spoon, 13", slotted, 1.2 mm stainless steel (Qty Break = 12 each)	\$1.00	\$6.00
30	4 ea	PIANO WHIP / WHISK Winco Model No. PN-16 Packed 72 ea Piano Whip, 16" long, stainless steel, NSF (Qty Break = 12 each)	\$2.00	\$8.00
31		PIANO WHIP / WHISK Winco Model No. PN-10 Packed 72 ea Piano Whip, 10" long, stainless steel, NSF (Qty Break = 12 each)	\$2.00	\$2.00
32		PIANO WHIP / WHISK Winco Model No. PN-12 Packed 72 ea Piano Whip, 12" long, stainless steel, NSF (Qty Break = 12 each)	\$2.00	\$2.00
33	6 ea	Vollrath Model No. 52023 Packed 5 ea High-Temp Spatula, 13-1/2", white-contoured flexible blade, non- scratching, non-staining silicone spoon/blade resists heat up to 500°F (260°C), red polypropylene handle molded to spoon blade to form sanitary seal, dishwasher safe, NSF, Made in USA	\$9.00	\$54.00
34	4 ea	DOUGH CUTTER/SCRAPER	\$7.00	\$28.00

Item	Qty	Description	Sell	Sell Total
value(s).		Dexter Russell Model No. S196 Packed 12 ea Sani-Safe® (17303) Dough Cutter/Scraper, 6" x 3", stainless steel blade and textured, polypropylene white handle, NSF Certified, Made in USA		
35	4 ea	SANDWICH SPREADER	\$3.00	\$12.00
(The state of the s	Dexter Russell Model No. S170 Packed 12 ea Basics® (18263) Mother Russell Spreader, 7" overall length, 3-1/2" blade, stainless steel blade, polypropylene handle		
36	4 ea	SOLID TURNER	\$17.80	\$71.20
		Dexter Russell Model No. S286-8 Packed 6 ea Sani-Safe® (16363) Cake Turner, 8" x 3", solid stainless steel, offset blade, textured, polypropylene white handle, NSF Certified, Made in USA		
37	2 ea	ICE CREAM DIPPER	\$4.00	\$8.00
		Crown Brands, LLC Model No. AD-16 Packed 12 ea Update International™ - Ice Cream Dipper, 2-1/2 oz. (#16), cast aluminum, self-defrosting		
38	2 ea	SLOTTED TURNER	\$15.05	\$30.10
) ————————————————————————————————————	Dexter Russell Model No. S186 1/2 PCP Packed 6 ea Sani-Safe® (19673) Fish Turner, 6-1/2" x 3", slotted, stainless steel, Perfect Cutlery Packaging, NSF Certified, Made in USA		
39	2 ea	SKIMMER	\$3.00	\$6.00
	6	Winco Model No. SCF-9 Packed 48 ea Skimmer, 9" dia., round, 14" handle, spiral wire, nickel plated (Qty Break = 12 each)	,	
40	2 ea	LADLE	\$2.00	\$4.00
	P	Winco Model No. LDIN-2 Packed 72 ea Ladle, 2 oz., one-piece, stainless steel, Prime, NSF (Qty Break = 12 each)	-	4
41	2 ea	LADLE	\$3.00	\$6.00

		,,		
Item	Qty	Description	Sell	Sell Total
A	A	Winco Model No. LDIN-4 Packed 72 ea Ladle, 4 oz., one-piece, stainless steel, Prime, NSF (Qty Break = 12 each)		
18				
42	2 ea	LADLE	\$3.00	\$6.00
	1	Winco Model No. LDIN-6 Packed 72 ea Ladle, 6 oz., one-piece, stainless steel, Prime, NSF (Qty Break = 12		
A	and the same of th	each)		
8				
43	2 ea	LADLE	\$3.00	\$6.00
		Winco Model No. LDIN-8 Packed 72 ea Ladle, 8 oz., one-piece, stainless steel, Prime, NSF (Qty Break = 12		
A COST	THE REAL PROPERTY.	each)		
8				
44	2 ea	LADLE	\$3.00	\$6.00
	10	Winco Model No. LDIN-12 Packed 72 ea		
	and the same of th	Ladle, 12 oz., one-piece, stainless steel, Prime, NSF (Qty Break = 12 each)		
1				
45	1 ea	PIZZA CUTTER	\$16.55	\$16.55
		Dexter Russell Model No. P177A-PCP Packed 6 ea		
(=)		Sani-Safe® (18023) Pizza Cutter, 4", stain-free, high-carbon steel, replaceable blade, textured, polypropylene white handle, Perfect		
		Cutlery Packaging, Made in USA		
46	6 ea		\$15.00	\$90.00
		ABC Model No. ST1206		
47	12 ea	Steam Table Pan, 1/2 Size, 6" Deep, S/S. 18/8 stainless, 22 gauge.	\$13.00	\$156.00
		ABC Model No. ST1306	•	
48	1 02	Steam Table Pan, 1/3 Size, 6" Deep, S/S. 18/8 stainless, 22 gauge. COMMERCIAL FOOD BLENDER	\$519.00	¢E10.00
40	1 64	Vitamix Model No. 062826	\$213.00	\$519.00
		(ALL 120V COUNTRIES, EXCLUDING MEXICO) (Formerly 1005) Vita-Prep		
		3, 64 oz. (2 liters) capacity, clear BPA Free Tritan™ standard container with wet blade assembly, manually-operated variable speed control,		
		start/stop switch automatically returns to neutral position, includes:		
		lid & tamper, black base with red face, 3 peak HP, 120v/50/60/1-ph, 13.0 amps, NEMA 5-15P, cULus, NSF		
	1 ea	3 years warranty on motor base parts & 1 year warranty on labor,		
49	1 00	standard SPICE GRINDER	\$147.00	Ć147.00
43	T 69	SPICE GRINDER	\$147.00	\$147.00

Item	Qty	Description	Sell	Sell Total
	7057	Waring Model No. WSG30 Professional Spice Grinder, electric, with 3 stainless steel grinding bowls & storage lids, stainless steel housing & blades, 19,000 RPM, 120v/60/1-ph, 175 watts, NEMA 5-15P, cETLus, NSF		
	1 ea	1 year limited warranty, standard		
50	2 ea	PORTION SCALE	\$103.75	\$207.50
	MHs say	Globe Model No. GPS10 Portion Control Scale, digital, 11 lbs. capacity (11 x .1 lbsoz. : 176 x .1 oz. / 5 x .01 kg. : 5000 x 1 g), weighs in pounds/ounces, ounces, kilograms and grams, auto power shut off, push button tare, removable 9" x 7" stainless steel weighing platter with marine edge, ABS construction, battery or AC (AC power supply included), 115v/60/1-ph, NEMA 1-15P, not legal for trade, NSF		
55.6	2 ea	Company of the contract of the		
51	1 ea	PORTION SCALE Taylor Precision Model No. TE50 Packed 4 ea Portion Control Scale, digital, 50 lb. x 0.5 oz. / 22 kg x 0.01 kg capacity, 13-1/2" x 11-1/2" rectangular stainless steel platform, large easy-read 1" LCD display, tare and hold functions, stable weight indicator, disable auto-off (in battery operation), with built-in handle, recalibratable, ABS plastic body, requires (4) AA batteries (not included) or AC adapter (included)	\$180.80	\$180.80
52	6 ea	REFRIG/FREEZER THERMOMETER	\$3.10	\$18.60
a no		Taylor Precision Model No. 3507FS Packed 6 ea Refrigerator/Freezer Thermometer, 2-1/2" dial, -20° to 80°F (-30° to 30° C) temperature range, hangs or stands, Safe Temperature Zone Indicators, stainless steel, NSF		
53	4 ea	INGREDIENT BIN	\$195.00	\$780.00
		Cambro Model No. IBS27148 Ingredient Bin, mobile, 27 gallon capacity, 1-pc seamless polyethylene bin, 2-pc sliding polycarbonate lid, S-hook on front (scoop NOT included), (4) 3" heavy duty casters (2 front swivel, 2 fixed), white with clear cover, NSF		00 00 00 00
54	12 ea	SQUEEZE BOTTLE	\$1.00	\$12.00
	12 ea	TableCraft Products Model No. 31763C Packed 1 dz WideMouth™ Squeeze Bottle, 16 oz., 63mm opening, natural wide cone tip, dishwasher safe, soft polyethylene, clear, Made in USA, NSF (must be purchased in multiples of 2 dozen) NOTE: Custom imprinting available with minimum purchase of 84 dozen, contact factory for details.		
55	4 ea	STRAINER, CHINA CAP / CHINOIS / BOUILLON	\$11.75	\$47.00

Item	Qty	Description	Sell	Sell Total
		Winco Model No. CCS-8C Packed 12 ea China Cap Strainer, 8", coarse, welded handle, 18/8 stainless steel (Qty Break = 4 each)		
56	1 ea	STRAINER, CHINA CAP / CHINOIS / BOUILLON	\$19.75	\$19.75
		Crown Brands, LLC Model No. CCB-08R Packed 5 ea Update International™ - Bouillon Strainer, 8" x 8-1/2" cap x 8-1/2" handle, extra fine mesh, wire reinforced, stainless steel		
57	6 ea	SQUARE FOOD CONTAINER	\$4.00	\$24.00
181.—["		Cambro Model No. 2SFSCW135 Packed 6 ea CamSquare® Food Container, 2 qt., 7-1/4"L x 7-1/4"W x 3-7/8"H, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF		
# 10	6 ea	SFC2452 Cover, for 2 & 4 qt. containers, polyethylene, Kelly green, NSF	\$2.00	\$12.00
58	6 ea	SQUARE FOOD CONTAINER	\$6.00	\$36.00
3.51 7.00 5 7.00 10 10.		Cambro Model No. 4SFSCW135 Packed 6 ea CamSquare® Food Container, 4 qt., 7-1/4"L x 7-1/4"W x 7-3/8"H, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF		
#97	6 ea	SFC2452 Cover, for 2 & 4 qt. containers, polyethylene, Kelly green, NSF	\$2.00	\$12.00
59	6 ea	SQUARE FOOD CONTAINER	\$8.00	\$48.00
0L -64 4L -44 2L -24	<u>\</u>	Cambro Model No. 6SFSCW135 Packed 6 ea CamSquare® Food Container, 6 qt., 8-3/8"L x 8-3/8"W x 7-1/4"H, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF		
#98	6 ea	SFC6451 Cover, for 6 & 8 qt. containers, polyethylene, winter rose, NSF	\$2.00	\$12.00
50 151 - 94 611 - 64	6 ea	SQUARE FOOD CONTAINER Cambro Model No. 8SFSCW135 Packed 6 ea CamSquare® Food Container, 8 qt., 8-3/8"L x 8-3/8"W x 9-1/8"H, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF	\$9.00	\$54.00
# Qu	6 ea	SFC6451 Cover, for 6 & 8 qt. containers, polyethylene, winter rose, NSF	\$2.00	\$12.00
61	6 ea	SQUARE FOOD CONTAINER Cambro Model No. 12SFSCW135 Packed 6 ea CamSquare® Food Container, 12 qt., 11-1/4"L x 12-1/4"W x 8-5/16"H, with handles, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF	\$12.00	\$72.00
#107	6 ea	SFC12453 Cover, for 12, 18 & 22 qt. containers, polyethylene, blue, NSF	\$3.00	\$18.00
62	6 ea	SQUARE FOOD CONTAINER	\$18.00	\$108.00

		•		
Item	Qty	Description	Sell	Sell Total
11/1/1/		Cambro Model No. 18SFSCW135 Packed 6 ea CamSquare® Food Container, 18 qt., 11-1/4"L x 12-1/4"W x 12-5/8"H, with handles, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF		
#10	6 ea	SFC12453 Cover, for 12, 18 & 22 qt. containers, polyethylene, blue, NSF	\$3.00	\$18.00
63	6 ea	SQUARE FOOD CONTAINER	\$23.00	\$138.00
100		Cambro Model No. 22SFSCW135 Packed 6 ea CamSquare® Food Container, 22 qt., 11-1/4"L x 12-1/4"W x 15-3/4"H, with handles, red graduation, polycarbonate, dishwasher safe, resists stains & odors, clear, NSF		
#10	2 6 ea	SFC12453 Cover, for 12, 18 & 22 qt. containers, polyethylene, blue, NSF	\$3.00	\$18.00
64	2 ea	MICROPLANE® ZESTER/GRATER, LONG HANDLE	\$7.45	\$14.90
		Microplane Model No. 40020 Microplane® Zester/Grater, Long Handle Ideal for grating and zesting. •8" stainless steel blade •4 3/4" black handle •Cover included •Dishwasher safe		
65	2 ea	PLASTIC BOWL	\$18.00	\$36.00
3		Cambro Model No. RSB15CW135 Packed 4 ea Camwear® Bowl, 11.2 qt., 15" dia., round, ribbed, dishwasher safe, polycarbonate, clear, NSF		
66	2 ea	PLASTIC BOWL	\$26.00	\$52.00
		Cambro Model No. RSB18CW135 Packed 4 ea Camwear® Bowl, 20.2 qt., 18" dia., round, ribbed, dishwasher safe, polycarbonate, clear, NSF	720.00	ү з2.133
67	1 ea	RICER	\$37.00	\$37.00
1	*	Winco Model No. PR-16 Packed 6 ea Potato Ricer, 17"L, square, stainless steel (Qty Break = 6 each)	,	
68	1 ea	IMMERSION BLENDER	\$78.90	\$78.90
	8	Waring Model No. WSB33X Quik Stik™ Immersion Blender, medium duty, 12 qt. (3 gallon) capacity, 7" stainless steel fixed shaft, stainless steel blade, 2-speed motor, rubberized comfort grip, 6 ft cord with 3-prong plug, 120v/60/1- ph, 100W, NSF, cETLus	<u> </u>	Ţ70.30
	1 ea	1 year limited warranty, standard		
69	1 ea	GRIDDLE SCREEN/PAD HOLDER	\$13.60	\$13.60

TriMark Economy Restaurant Fixtures

Description

R113101

Sell

Sell Total

Carlisle Model No. 4071200 Packed 10 ea Sparta® Grill Pad Holder, 5-1/2"L x 4"W x 2-3/4"H, clips, plastic handle, standard color 1 ea CAN OPENER \$110.00 \$110.00 Edlund Model No. 1 Packed 3 ea Can Opener, manual, #1™ with plated base (for cans up to 11" tall) "Old Reliable"™ 1 ea 1 year limited warranty, standard 71 2 ea TIMER, ELECTRONIC \$9.00 \$18.00 Taylor Precision Model No. 5862 Packed 6 ea Compact 4-Event Digital Timer, 0.8" LCD readout, 12/24 hour clock feature, each timer times up to 99 hours 59 minutes 59 seconds, memory recall, counts up or down, stand or hang with magnet, (2) LR44 batteries (included) 72 SCOOP \$8.00 \$4.00 Cambro Model No. SCP12CW135 Packed 12 ea Camwear® Scoop, 12 oz., polycarbonate, clear, NSF 73 2 ea **SCOOP** \$5.00 \$10.00 Cambro Model No. SCP24CW135 Packed 12 ea Camwear® Scoop, 24 oz., polycarbonate, clear, NSF 74 2 ea FOOD CONTAINER BOX \$52.00 \$26.00 Cambro Model No. 18266CW135 Packed 6 ea Camwear® Food Storage Container, 18" x 26" x 6", 8.75 gallon capacity, dishwasher safe, smooth surface, polycarbonate, clear, NSF 1 ea 1826CLRCW135 Colander, 5" deep, for food storage boxes, fits 18" x 26" \$22.00 \$22.00 x 6" and deeper, polycarbonate, clear, NSF 6 ea 1826CCW135 Camwear® Cover, food storage, flat, 18" x 26", \$13.12 \$78.72 # 105 polycarbonate, clear, NSF 75 2 ea FOOD CONTAINER BOX \$32.95 \$65.90 Cambro Model No. 18269CW135 Packed 4 ea Camwear® Food Storage Container, 18" x 26" x 9", 13 gallon capacity, dishwasher safe, smooth surface, polycarbonate, clear, NSF 76 2 ea FOOD CONTAINER BOX \$40.15 \$80.30

Item

Qty

Item	Qty	Description	Sell	Sell Total
	3	Cambro Model No. 182612CW135 Packed 4 ea Camwear® Food Storage Container, 18" x 26" x 12", 17 gallon capacity, dishwasher safe, smooth surface, polycarbonate, clear, NSF		
77	4 ea	UTILITY TONGS	\$1.40	\$5.60
		TriMark Model No. 859305 Culinary Essentials Utility Tongs, 12"L, heavy duty, two-piece, coil spring operated, scalloped edge, 1.2 mm thick stainless steel		
78	4 ea	UTILITY TONGS	\$1.65	\$6.60
	7	TriMark Model No. 859306 Culinary Essentials Utility Tongs, 16"L, heavy duty, two-piece, coil spring operated, scalloped edge, 1.2 mm thick stainless steel		·
79	1 ea	ROLLER DOCKER	\$18.60	\$18.60
		American Metalcraft Model No. DD5704 Packed 24 ea Dough Docker, (full size) 5" wide x 1-3/4" diameter barrel, stainless steel pins & axle, plastic core, aluminum handle	·	·
80	6 ea		\$16.75	\$100.50
		TriMark Economy Restaurant Fixtures Model No. TOT870008 DOUGH PROOFER BOX 18"X26"X3"		
81	1 ea	DOUGH BOX DOLLY	\$91.85	\$91.85
8	9	MFG Tray Model No. 870148 5136 1075 Dough Box Dolly, 26"L x 18"W, rectangular, platform design, single stack, 3" dia. swivel casters, fiberglass, gray, Made in USA (for 870008, 875008, & 880008)		
	1 ea	WARNING: This product can expose you to styrene, a chemical known to the State of California to cause cancer. For more information go to www.P65Warnings.ca.gov.		
82	4 ea	POCKET THERMOMETER	\$17.55	\$70.20
ce	enue	Micro Matic USA Model No. PDT300 Digital Thermometer, waterproof, slim, pocket case, -58° to 300° F		
83	6 ea	OVEN THERMOMETER	\$4.35	\$26.10
		Taylor Precision Model No. 5932 Packed 6 ea Oven Thermometer, 3" dial with glass lens, 100° to 600°F (50° to 300° C)temperature range, stainless steel casing, hangs or stands, NSF		*

	Item	Qty	Description	Sell	Sell Total
	84	1 ea	INFRARED THERMOMETER Taylor Precision Model No. 9523 Packed 2 ea Infrared Thermometer, -49° to 752°F (-45° to 400° C) temperature range, 6:1 spot to distance ratio, 0.95 fixed emissivity, 0.1°F/0.1°C resolution, scan and hold features, nylon storage case, requires (2) AAA batteries (included)	\$67.00	\$67.00
Ó	85	24 ea	BUN / SHEET PAN Winco Model No. ALXP-1826 Packed 12 ea Sheet Pan, full size, 18" x 26", closed bead, 18 gauge, 3003 aluminum (Qty Break = 12 each)	\$6.15	\$147.60
	86	24 ea	BUN / SHEET PAN Vollrath Model No. 5303 Packed 12 ea Sheet Pan, 1/2 size, 18"W x 13"D x 1"H (45.1 x 32.7 x 2.54cm), 18 gauge aluminum alloy, natural finish, Made in USA	\$7.45	\$178.80
,	87	2 ea	SOLID TURNER Dexter Russell Model No. P94855 Packed 6 ea Basics® (31645) Hamburger Turner, 6" x 3", square end, stainless steel, offset blade with polypropylene handle, NSF Certified	\$9.95	\$19.90
٠	88	4 ea	CHEF KNIFE Dexter Russell Model No. P94801 Packed 6 ea Basics® (31600) Chef's/Cook's Knife, 8", stain-free, high-carbon steel, textured, polypropylene white handle, NSF Certified	\$15.75	\$63.00
	89	4 ea	BREAD / SANDWICH KNIFE Dexter Russell Model No. S163-9SCC-PCP Packed 6 ea Sani-Safe® (13583C) Sandwich Knife, 9", scalloped edge, offset, DEXSTEEL™ stain-free, high-carbon steel, textured, polypropylene handle, blue, Perfect Cutlery Packaging, NSF Certified, Made in USA	\$13.75	\$55.00
•	90	1 ea	PASTA POT Vollrath Model No. 68127 Wear-Ever® Pasta & Vegetable Cooker, 18-1/2 quart, aluminum pot with (4) Wear-Ever® pasta inset, 3 quarts, perforated 18-8 stainless steel, riveted plated steel handles with Trivent® rated at 450°F (232°C) stay cool to the touch, Made in USA	\$169.50	\$169.50
•	91	1 ea	PIZZA PEEL	\$13.75	\$13.75

\$9,589.10

Prices Good Until: 05/31/2019

Total

Return Policy:

- Unused stock merchandise in original condition/packaging, with all parts and accessories may be returned within 30 days of invoice. (Subject to written approval of TriMark Economy)

 Special Order Returns Policy:
- Special Order returns are subject to manufacture restock fee's and return freight charges. (List of return restrictions below) (Sales, Warehouse or Factory errors may exempt customer from return restrictions.)
- Returns must be approved by department managers.
- ** Must abide by stock return policy **
- All items will be inspected for damage and usage prior to issuance of a credit/refund.
- Customers are responsible for return freight on all call tag returns. (Sales, Warehouse or Factory errors may exempt customer from policy)

Final Sale & Nonreturnable merchandise:

- Consignment, demo, sale (One-time low price), closeout, or used Items
- Custom or logo'd items
- Consumable, perishable and disposable items
- Liquid items: cleaning product, detergents, flammable liquids, aerosol cans
- Furniture

Refunds:

- All cash account refunds will be made on purchasing credit card or by check request.
- All net account refunds will be made in exchange for account credit.

Damaged, Shortage and Defective:

- All Damages and shortages must be noted on Trimark Economy packing slips at the time of delivery.
- Defective units must be reported to TriMark Economy within 48 hours of delivery. Reports exceeding 48 hour window are subject to above return policy and factory warranty period.
- Note: Customer assumes responsibility for all product on signed carrier receipts. Damages, Shortages and Defective units must be noted at the time of delivery or refused and sent back to sender.

Delivery services not pre-identified will not be performed by delivery team:

Services requested at time of delivery, if time permitting and possible for delivery team to perform (without impacting the delivery schedule), may be charged at a rate of 3 times the original fees.

Customer delivery refusal will be subject to the customer returns processing fee.

Upon arrival, if delivery team cannot locate delivery point of contact, the delivery team will wait 15 minutes. If delivery point of contact is not present within 15 minutes, and delivery team departs without item(s) dropped-off, the customer will be charged a \$50 missed delivery fee.